EARAROBREBRT —5 XN—ZXBISH—F 2024528148 (K) 170XH4H

t9—XA4—KrE B1ZB2— H>%—M& ‘ XR] ‘ (EmEl - | 9 14 B
[AE%) 1 & :3,000,000  ~ 237#&:1,200,000 §  33#%:750,000 @ 4 3%&:450,000 M 5 & :300,000 /9
B RS RS R 1 BF (F8) g4 (BE) | BBIEGI | E3F |SIEH | AR | AE | BN i) / BE / £EWNS
o < BEOF— 128. -5~ . - EBH— (KH)
1 - BISHAE #o | 2R [ S B b M}
RIVZRI—ZZRY— #:Y=-—0Ov7 ARNTIT 7 —L
¥ 4 5 | BRERXSE 1:29.1 6-6-4 |39.3| — 6 493 | FELLBSEE (IViA)
2 4U]—d479— 57.0 (1 1/4) (45 | THRIER
ROUIA9—2 B:UI—T«1F5/ Ud—T7—L4
EImZE :29. -1- . - HiBEe (KH)
301]2 | T7O0ARU—L4L "5 570 1(/%3—; I R 2 (5_231) i(EEEE‘i.
RFPIPITRATVR B:yvAZ—LUF« JBSEERKS
SAS7 RS 6 | [EfES] 1:29.4 16-14-13 [38.3| — | 16 | 474 |iE@mE (KH)
4|8l15| Z9SARYIIL & 55.0 (' 3/4) g) | KAJIMOTOHD (i)
RIVZIRI—SZRI— BV /AT NVE K
S H— Y 6 | BEKE 1:29.5 13-13-11 [38.6| — 9 | 505 |#E3hZ (k)
5 12| ZIWBRS YA 57.0 %) e | TlBEE
R:7UA—=Y B:7ILRS RO%U%
S AHIESE 129. -8~ . - {ESRIGFD ()ViE)
c by TFTXUAY 4 5 e 1(72911? 5-8-9  [39.6 3 ?(1))3 L2
RIPAUAYRA NUF Y N B:HTLPHIAE ) 455
5 o4 | HHES 1:29.6 10-11-10 [39.2| - 5 447 | BB OFH)
715]10| RI—RS7— 57.0 (7€) 6 |BED
RiTx /=X B:T7—IU7 ERERIS
~ —R 4 6 | fHMEAFIE 1:29.6 1-9-8 [39.6| — 1 519 | HBAFS (VW)
sl t—tEvoOo-—~F 57.0 hF) @3 | Bl
R:bh—tYIT7V L B:ibh—EYRIUa— BRE|M IRF«4T77—L
ST 8 | EB—H 1:29.7 15-15-14 | 38.3| — | 12 | 454 |{EERZ (KH)
9lEY 5| O—F7IVIL—h # 255.0 RY:) o0 |¥T5vF zRIRvs
RIFVIARXNAN BN—TTIRRUE2—k TATFAT7—1
= 47 | BEK 1:30.2 9-7-7 |40.3| - 10 | 504 |fEEEL ()W)
108 8|7 E-ILh 57.0 @172 o | TEeE
RinZ—ka1—X B:F—ILYFy rIPX IIDS5T7—LA
N . s 7 | BUIES 1:30.3 1-2-1 [41.0| — | 13 | 500 |f@KE (1)
11l | 7=<=no—x 57.0 ) (1) | BEERLR
RALYTSYIEN BJ/TIAZVD BERT7—L
» o6 | ABEX 1:30.5 12-12-12 [39.8| — | 14 | 490 |BRE KH)
1217114 ST J/INTIH 57.0 (1 1/4) *3) )| =EBB
KR:oO07x% #9277 /)N\1I0E BEERBUS
= 4 6 | FEBA 1:30.6 4-4-3 a1 - 15 485 | JAEWBE (111E)
1315/ 9| 7ZIWIN=Z /)b 57.0 /2) o |PEEHE
4:Bobby's Kitten &:7SEVS TYVISTF— L
> o7 | BREK 1:30.7 14-16-15 |39.3| — 8 | 49 |{ETH= (k)
14/8/16| YT I 4540 i) Gy | TEmE
RIIRTVFULY BEIVEYILF A« lIESE e
< 5 BERA :30. -3 . - JETFERE ()W)
s 7| Ty Tu— B 6 LS 1(73(‘):? 336 [41.3 1 (4:95(; :ﬁ@ﬁ
RiUFVF4—R BADYRFVE— ML fREE
° = o~ P & - ~ - - FRLLBSEE (Vi)
w713 N TS BT G0 (1) 810 ! (4538) :t’f%IETEﬁ
RIAR—KT 7Y BYVIRIAI Ud—J7—L
@ 11— —BBIEfI
13—7+—
20—7F— (1,2),7,9,11,4,6,13,8,10,3,14,12,16,5,15
30—7— 2,1,7,9,6,4,8,11,3,13,10,14,12,15,5,16
43—F— 1,2,9,(4,6),7,8,3,11,10,12,14,15,5,16
o ILRE
B B 6 1,320 | | 94 R 4-6 2,470M % 3= 2-3 1,030 3EE 2-4-6 10,220M4
7B B 6 290M 2-6 640 B 3-2 4,240/ 3EH 6-4-2 101,520
4 610 2-4 1,390H 5B & 4-6 12,510
2 140 =51 6-4 23,840

ABIC OV TRUTEREERRODDZE. THRIIZEL.



